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Overview

The mwn stated! that 2"2>1 maintains that a b3 may not be written on erased paper or
on X7 (since it can be forged); however the 0°»a1 permit it. YR " (the X1MK)
says that the 001 of the 7awn is Y9 "1 (the X1n), who maintains? >N 77°0n >7v.
Our NN first cites *"w1d who explains why according to X" a 3 can be written
on something which can be forged, qualifies his ruling, and disagrees with >"w"
regarding the view of 7 Rn .
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>"'w9 explained that the 2°n51 who are 7°won is X"7, who maintains that the >7v
mavon are the main witnesses who effectuate the 03, so a woman who comes before
us to remarry, must bring the 792 7¥, and they will verify that it was not forged —

Moo comments on this requirement to bring »n"v if she wants to remarry:
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And it is only specifically here when the v is written on something which can be
forged, does '"w9 say that she is required to bring 2"y when she wants to

remarry (according to ") -
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However by 1°vx which are written on something which cannot be forged, she

can remarry based on the 1"V if they are authenticated, and she is not required to bring the
DHU -
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And this ruling (that 1"y are sufficient) is true even according to X'"9 (who
maintains *n73 1"Y) as we learnt in a 7w» in the last P99 and it is cited in the

L3 xo.
2 In order for woman to become divorced we need two witnesses for the divorce to be effective. According to 2" the
witnesses which [must] sign on the v3 (called nn>nn >7v) are the ones who make the v effective; however ¥R "
maintains that the witnesses who observe the transfer of the v3 from the husband to the wife (the 77°0n *7v) they make
the v3 effective (even if there are no 710 *7v).
35"y writes on the TTY9X " 7"72 "2 v that; IR XN 72 77 ORY PR 270X TIAK RITT XD RADTY 10T R 729
0777199 N0 27V K277 137X RWID XTI 77001 7Y 7'M v, [Therefore we are not concerned that perhaps she
forged it for it is necessary (for the 717701 *7¥) to read (the v before it is delivered to the woman) and if there was any
stipulation (written in the v3) they would know about it, and according to the 7>y 77°0n *7v 7"n, a woman who wants
to remarry must bring the 2"V in whose presence the v) was transferred.] The »"y will see if anything was changed in
the vx. Therefore there is no concern for 1.
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beginning of our noon -
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‘That witnesses sign on a v only on account of a global beneficial enactment.’

mooIn cites and disagrees with >"w1 regarding »n'"A:
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However this which "'21 explained that according to »''9, a woman who comes

to remarry with a v which is written on a f»717% 91992 927; this woman -
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Does not require »"y at all,® and she does not bring the 11"y who signed the s,
if there are others who recognize their signature
= 9951 NDPD NN ANIN N2 NN INY
So if there was a stipulation in the v3 (detrimental to the woman) and she forged
it (removing or altering that stipulation) no one will know. Therefore according to n"3
a V3 cannot be written on a 771779 912°w 127. This concludes >"w15. NM90IN comments -
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It seems from " that if the 237¥ were brought before us it would be “w> (if the

woman brought the actual 1"y or n"v)!° -
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5> This mwn cannot follow »" for he maintains 7%°nn *7v are required 7707 72 not 22 Wi PN *197.
6 This is the view of X" that a v does not require 1"y, only n"v. However the 0°2n instituted 017 1PN *1on that o7y
should sign on the v3, so in case the n"y are not available, the v will be validated through the signatures of the n"v. It
is evident that 1"y can also validate a v (without n"v) in those cases where the v} was written on a 9>>7177% 912° PRY J27.
7 A woman in order to remarry with a v only needs to authenticate the signatures of the n"y; she is not required to
being them in person.
8 "3 maintains >n12 1"y, so no 1"y are required.
9 >"y stated that the reason that a 3 is not written on a A»71772 212°w 727 (according to 2"7) is because »"v are not
required and the woman does not bring the n"v to authenticate her v3, rather she brings 0>7v who recognize their
signatures (however they know nothing about the v1), so the woman can alter the v and no one will be the wiser. It
seems however if she would bring the n"y (or n"v) there should be no problem since they will recognize if anything
was changed. maoIn takes issue with this inference. See ‘Thinking it over’.
10 See Tm%n7 "wAon XN # 37-39; whether we are referring to the 1"y or n"v.
! The mawn there rules that if a man has two wives with the same name and he wrote a v to divorce the older of the
two (and changed his mind), he cannot use it to divorce the younger one. The X713 inferred that he can however divorce
the older one, and the &3 concluded that this is only according to X" (who maintains °n72 2"y), however according
to n"9 (who maintains °n73 11"v) he cannot use it even to divorce the older one. The reasoning is that according to n"
when the 70 writes NIn°73 790 7% 2n31 the word an31 refer to the 2>7va n»°nn (the 1"'v) [we know that he wrote this v
(the an1), since the signature of the 07y attest to it]; meaning that in this v3 which the 0>7¥ sign we are told the entire
story of this 7w This is the meaning of 12101 1131 it needs to be evident from the signed document what actually
took place. Any information which we receive from an outside source (other than the v3) even if it is from the oral
testimony of the 1"y, is not acceptable for it is not 1210 121, [According to X" that an31 refers to the writing of the
v and no 07y are required to sign; we only need 77°0n *7Y, there is therefore no rule of 1211 15w, we rely on the
testimony of the 77°0n *7¥ (and occasionally [when it is a §717% 912° PRW 727] on the 1"v.]
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And it is impossible to say this (that the v will be w2 if the n"v (or 2"Y) come and
testify that nothing was altered), for according to »''9 we require that it should be

19In7% 119, as it seems in the beginning of va7 %5 o -
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And when the v3 is written on a 5371772 21292 927, nothing is 191n% 2.

Summary
A woman must bring n"¥ (according to &"1), only if it is a 7°>717% 912°w 2n2, otherwise

we can rely on the 1"v. According to »"7 even if she brings o°7¥ that nothing was
changed it is not effective since it is not 12107 121 ("W seems to disagree).

Thinking it over

According to (mo01n understanding of) """ that if the 1"y come before us it will be
“w> even according to n"7;'® what is the difference between n"1 who is 2012 on a an>
A»71%? 719w and X" who is 7°wan, since both agree (and require) that if the o*7v
come before us (the 1"y according to n", or the n"y according to X"7), it will be
valid?!!'

12 When we look at this 3 we do not know whether it was altered or not, so even though the n"v/n"y testify that it was
not altered; we do not know it from the v3 itself, therefore it is not 7w>. That is why %" rules that a v3 may never be
written on a 771777 712°w 727 for we will never ascertain from the v3 whether it was changed or not.

13 See footnote # 9.

14 See apy> nxon and Awn nbma.
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